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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226623241 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The magazine “Chandamama’ was started by
1. Bapu, Ramana
2. Nagireddy, Chakrapani
3. Venkata Parvatheesa Kavulu

4. Andhra Pradesh Children Academy
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Question Number : 2 Question Id : 39226623242 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding author and book

1. Charles Darwin a. David Copperfield
ii. Charles Dickens b. War and Peace

iii.  Leo Tolstoy 7 Origin of Species
iv.  Donte d. Divine Comedy
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Question Number : 3 Question Id : 39226623243 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Kherai Puja” belongs to this tribe

1. Gond
2 Kol
3 Bodo
4. Baiga
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Question Number : 4 Question Id : 39226623244 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The concept of ‘Fundamental Duties’ of the Indian
Constitution 1s taken from this country constitution

I Russia

2. England

Tl

Germany

4, Australia

—
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Question Number : 5 Question Id : 39226623245 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Stainless steel” was invented by
L. Henry Bessemer

2. Thomas Newcom

T2l

Harry Brearley

4. Walter Hunt
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Question Number : 6 Question Id : 39226623246 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Junk e-mail 1s also called as

1. Spoof
2 Spam
3 Spool
4. Virus
205 3 - S FE®© ) Eree 0L,
1 SR
2 )
3 ‘:&Fﬂje?
2. B

Options :

1. % ]

2.2

3. % 3

4. % 4



Question Number : 7 Question Id : 39226623247 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One famous book “The Daughter of the East™ 1s written by

L. Taslima Nasreen

N

Sirimavo Bandarunaike

Benazir Bhutto
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Question Number : 8 Question Id : 39226623248 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name the first Indian businessman who found place in the
cover story of Forbes magazine

¥ Narayana Murthy
Z Dr. Reddy
3, Anil Ambani

4, Azim Hasham Premji
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Question Number : 9 Question Id : 39226623249 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Guillain Barre Syndrome (GBS) is a

1; Nerve disease

12

Communicable disease

Auntoimmune disorder

(8]

4. Type of respiratory mechanism
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Question Number : 10 Question Id : 39226623250 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The war ship inaugurated by Indian Defense Minister at
Kaliningrad Yantar Shipvard in Russia is

1. INS Vikranth
2. INS Tushil (F-20)
3. INS Kiriti

4. INS Ravath
EX§S" OISTE 6otd B wrtpS” eries Bxes oo@ B
2o (F5¥0 DanodT csg I

L 2.J9.008. Jsros

3, 0.08.0500. RS (5-20)
3. 2.08.00 2868
4. 2.90.000. o5&

Options :

1. % 1

2.9 2

3.% 3

4. % 4



Question Number : 11 Question Id : 39226623251 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

15™ Aero India expo held in this city

1. Jaipur

2. Puducherry
22 Calicut

4, Bengaluru
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Question Number : 12 Question Id : 39226623252 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

49™ Imam of Nizari Ismaili Muslims
1. Prince Aga Khan - 2

2 Prince Aga Khan - 3

(VS ]

Prince Aga Khan - 5
4. Prince Aga Khan - 4
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Question Number : 13 Question Id : 39226623253 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Country’s first Robotic godown that runs by artificial
intelligence will be established in this port

1. Ramayapatnam
2. Bandar
3. Krishnapatnam

4. Suryalanka
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Question Number : 14 Question Id : 39226623254 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Tropex-2025 1s aimed to

l. Coast guard

1o

Production of cars

L |

Cloud computing

4, Industrial investments
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Question Number : 15 Question Id : 39226623255 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Arvana Sabalenka : Tennis : : Charith Asalanka

1. Gymnastics
2. Cricket

= Chess

4, Kabadi
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Question Number : 16 Question Id : 39226623256 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT related to artificial intelligence
1. Chat GPT
2. Deep Seek

Google Gemini
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Destination Sink
308 TAS” KYBa e HowoEo BIB.

1. T8 2H8

3 &S 5HE

e

3. Krins 20
4. CHPRD HoE
[ ]

Options :
1. %1
2.% 2
3.% 3
4.9 4

Section 2
Section Id : 392266747
Section Number : 2
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Question Number : 17 Question Id : 39226623257 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NCF 2005, evaluation for Grade 1 and 2 should
be conducted 1n this manner

1. Oral

2. By conducting quiz

LS

Through close observation

4, Through written exams
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Question Number : 18 Question Id : 39226623258 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Minimum age for girls to enter ‘Kasturba Gandhi Girls
Schools’

L. 6 years
2 8 years
3 10 years
4. 12 years
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Question Number : 19 Question Id : 39226623259 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Following road safety rules is a

1. Social value

1o

Democratic value

Moral value

L |

4, Aesthetic value
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Question Number : 20 Question Id : 39226623260 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This type of Naturalism believes in Charles Darwin’s theory of
evolution

L Physical Naturalism

2, Mechanical Naturalism

3. Biological Naturalism

4, Historical Naturalism
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Question Number : 21 Question Id : 39226623261 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This statement 1s true about ‘“Tols™ in Bengal

L ‘Tols” were institutions teaching Urdu and other
subjects
2. ‘Tols” were vocational training counters for artisans

(ad

‘Tols” were institutions teaching Sanskrit and other
Subjects
4, ‘Tols” were administrative centers for the Mughal rulers
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Question Number : 22 Question Id : 39226623262 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According the NEP — 2020. this B.Ed course is available
to those who want to become a teacher with 4 years
multidisciplinary Bachelor’s Degree

1. 4 years B.Ed Course

2. 2 years B.Ed Course

3. 3 years B.Ed Course

4, 1 year B.Ed Course
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Question Number : 23 Question Id : 39226623263 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is NOT the reform regarding exam by NCF 2005 from
the following

1. The exam should not be conducted

2. Assessment should be conducted as diagnostic activity

Tl

Assessment should be comprehensive
4. Implements Continuous Comprehension Evaluation
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Question Number : 24 Question Id : 39226623264 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a financial register

1: Cash book

-2

Property register

4. Pay-bill Register
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Acquaintance register
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Section 3
Section Id : 392266748
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266853
Question Shuffling Allowed : Yes



Question Number : 25 Question Id : 39226623265 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A baby first addresses all men as ‘daddy’ and then uses that
term only for his own father. This statement satisfies following
Principle of Development

L.
2

LS ]

4.

Development follows a definite direction
Development proceeds from general to specific
Diftferent developments are interdependent

Development is a continuous process
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Question Number : 26 Question Id : 39226623266 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Educational opportunities influence the development of an
individual, the correlation between the school facilities and

individual development is high” This was mentioned in the
book

1. Educational Determinism
2 Hereditary Genius

3. Oxford English Dictionary
4. The Environmental child
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Question Number : 27 Question Id : 39226623267 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Early Childhood stage is

L.
-
iy
y
2K

4

According to parents — Gang age
According to psychologists — Troublesome age
According to parents — Imitative age

According to psychologists — creative age
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Question Number : 28 Question Id : 39226623268 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement for “Social development’

1. According to Sorensen, it is the attaining of maturity in
social relationship

2. According to Hurlock. ability to work along with other

LS ]

According to Garret. transformation of a biological
being into a human being.

4. According to Maclver. a desired behaviour to live with
others
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Question Number : 29 Question Id : 39226623269 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Attributing life to non-living things

1. Ego centrism

2. Object permanence
3 Animism

4 Super Ego centrism

850 B TNJoH AT eFhosEo

1. &3m0 S0 60
(e | £ e
Z: Jm&gfﬁ@s 2P oI 00
3. ﬁcsééé J°E0
4. @&5‘@0 0
Options :
1. %
2.% )
3.¢3

4, % 4



Question Number : 30 Question Id : 39226623270 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement

S: Srinivasa Ramanujan is a genius in mathematical but
doesn’t speak English. So there are Inter individual
difference here

R: Two brothers belong to the same family elder brother
can read well and younger one can write well.  So
there are Intra individual differences here

1. S. R both are true
2. S - true. R - false
S - false. R - true

4. S. R both are false
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Question Number : 31 Question Id : 39226623271 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct statement according to Wallas

H:  Creativity emerges in the form of a sudden flash
mn Insight stage

S: Creativity 1s evaluated in Proving stage
L. “H” only true

2, ‘S’ only true

H. S both are true

H. S both are false
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Question Number : 32 Question Id : 39226623272 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Raven’s Standard Progressive Matrices test is

1. Non-verbal, Group and Paper Pencil test

2 Group. Power test
3. Paper pencil. Verbal test
4. Non-verbal. Performance test
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Question Number : 33 Question Id : 39226623273 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a correct statement

1.
2.
3.
4.

“Ability” refers to the current state of a person
‘Achievement’ refers to the past stage of a person
‘Aptitude’ refers to the future stage of a person

Attitude scale was developed by Stanly Hall
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Question Number : 34 Question Id : 39226623274 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a correct pair
L. Kretschmer - Germany

2. Spranger - Switzerland

3. Hippocrates - Greek

4. Sheldon - USA
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Question Number : 35 Question Id : 39226623275 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is not related to “Ink blot test’

1. It 1s designed for adults

b

It 1s a projective test

b3

It consists of five white and five red cards

f

.

There 1s no particular time to conduct this test
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Question Number : 36 Question Id : 39226623276 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A clerk has shown his anger towards officer on to the files”
This is related to the defense mechanism

L. Compensation

2 Withdrawal

-

3. Regression

4. Displacement
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Question Number : 37 Question Id : 39226623277 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement from following

a A student learned the plural of “book” as “books’,
leamed the same plural of ‘pen” as ‘pens’. This relates
to positive transfer

b: A student learned ‘but” and it pronounced as ‘but’. In
the same way he learned ‘put’ and pronounced it as
‘pat’. This refers to positive transfer

1. a. b both are correct
2, a. b both are incorrect
3. “a’ only correct

4. ‘b’ only correct

208 FAS® B/S (HELS K80B0E.

a: ‘book” 2 ea5vS5S0 ‘books” e @2555‘00&:5 E,’Jm‘égﬁ)
‘pen’d 25050 ‘pens’ ol JE)EESE0
20 Eree0ePa0w) i,

b:  but'd 2 e ©2500S TR putd %S @
;?,tiaaﬁaﬁcgo e DETO 2ESP00N) XD,

L a%dds» bXpsd
2. a o0ctw b Doz
3. A Sr|gRs ¥DS0
4. D S $BIO

Options :
1. % 1

2. % 2
3.3
4, % 4



Question Number : 38 Question Id : 39226623278 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT related to ‘Bruner Theory of
Instruction’

d.

b.

LS ]

4

Priority should be given to Student’s self-learning

Learning material 1s important rather than method of
teaching

‘a’ only
‘D’ only
a and b are not correct

a and b are correct

(225°56 S E’b%‘*{}v‘éos‘j*‘;} $020009 H83°0

da.

b.

oW

Options :
1. % 1
2.2
3.% 3
4. % 4

ITPGQ A BRTVE IS (TS 33D
$ET DG K08 S'ET TR A0S
@“Gﬁ"ﬁéo 3.

D S S

a 508030 bBdszeeh

a 508c50 b $85



Question Number : 39 Question Id : 39226623279 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the wrong statement

1.

Despite the experimental extinction of conditioning is
done. conditional reflex may occasionally arise

Usage of conditioned response as conditioned stimulus
1s called higher order conditioning

The higher the reinforcement the stronger the
conditioned response

Unconditional stimulus 1s continued after conditioned
stimulus, the conditioning will be stronger

DO (DELIDL Mook,

£

Options :

1. %1
2.9 2
3.% 3
4. % 4

(BB Eor Jnosa) JTHoe ﬁ?xﬁ‘;’aéﬁé
eﬁfb_é"@ A0S 555 23030805¢0¢008.

NORS [HBHOETH Jode &QHI
é?&irﬂoismﬁg é&ae‘_ﬁ@‘;ﬁa V20RO 0EIED.
DSYYOSO oS L) 5 €08 JORE (HAVYOES
©0 OO 0o

N2ORS &QHS D) LTS JY2odE &BDS
3560 FITAD (e Jw0FT0 2oHEE08.



Question Number : 40 Question Id : 39226623280 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
According to ‘Kirk’. identification methods for Leaming
Disability are
o Medical Tests
b. Professional skills Test

c: Study of family, School and Environment
d. Study of behaviour
3 T i = - —- e o as
“531' (w5 8o &92:55“:}&5 Eg@ﬁs@ fyelelew D:%e:a::en
a. Do H8Ken
L ol 1 T il t{'
b ﬂg@ SREd D:E}dﬂ::
C. 560020, JFET, VDo eac’;iédimo
d. (P800 Egaibgo
1. a, c,d
2 b.c.d
3. N E
4, a.b.d
Options :
1.v 1
2. %2
3.%3
4. % 4
Section 4
Section Id : 392266749
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 392266854
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226623281 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

B 5% $022050D) 208 FAS® VO

©. HBDHDY eFH0S” Ho@m &I
= =]

e AKITEY oRrades0 B BiSS

3 PrSE0S” elieghdo $o0d SIHILIY Do
HEE SDOT

B2 edche D8 5dee ofmo
; B e, €3, 3

Z, es, 3, 53

3. e, 3, 83

4, e, e3, 53

Options :
1. % 1
2.% 2
3.% 3
4. 4



Question Number : 42 Question Id : 39226623282 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

‘B0’ Bl ‘;’::D‘“Sc:iﬁa‘!.'bme::

1. San)sdo, ditele]

2. DBPEE0, Dw(E0

3. SYOALS, Eﬂg

4, Qf:;ﬁc:ei'%, ‘;’éas.m@jo

Options :
1.v 1
2. %2
3.% 3
4. % 4

Question Number : 43 Question Id : 39226623283 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Beqy, e, ¥, 58, i %"g;ﬂ:«;@ ‘09, GO @ﬂﬁa

DB KB
1. BIEOELSE0 esBonT S08.

2. E0MA00 S08.

3. B el Bt Sinod.
[ g "

4. SO0 5008,

Options :
1.¥1
2. % 2
3.% 3
4. % 4



Question Number : 44 Question Id : 39226623284 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘ﬁﬁa@wﬁgo ne DOEY IR, ©0SX0E3 D) SRS
(I Qﬁaﬂﬁgon‘ﬂ iﬁdﬂjdéac:.

1 53“35:1535 J“EESD
2. mog‘g :ﬂr-.fst:}
3. DodinE a°550
4. POBIBEE 530
m -
Options :
1. % 1
2.% )
3.¢¥3
4. % 4

Question Number : 45 Question Id : 39226623285 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Ne5” Nl
1. SLald YR DL{T a0
2 n:mﬁ;sm ) lob)e} "fo'cgsmo:bo
3 (DE YDA DET00
4 85@0213 DR BET00

Options :

1.¥1

2. % 2

3.% 3

4.% 4



Question Number : 46 Question Id : 39226623286 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

So850 - Horwd T

1 DE°es:500, 2T°KE
2. éﬁs&e;e’;, J00eh 2a0€8)
3. L-ﬁ?.é..,o.m:o, n:etaat}m
4, 230d000d, EIE)eadD
Options :
1. %1
2.9
3.% 3
4. % 4

Question Number : 47 Question Id : 39226623287 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
"KoNSQ! B KoKb)...! AE0 DIE? Doy cigs”
B3 S5rdoew

L 388 H0&K FEoS” e¥ch wK)d.

. 9G350 oS ﬁt‘n’mﬁaé Sha)
3. S oS’ Feos L @),
4. $E3050 &S ::oﬁmgé o)B.
Options :
1. ¥ 1
2. % )
3.9 3

4, % 4



Question Number : 48 Question Id : 39226623288 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Roomg e - IO D
1. DOV SN HIT0
p. aﬁam BEYOR BITRO0
3. @ﬁacﬁp SR BITH0
4. Bl SE)HR OHTB0

Options :
1. % 1
2. % 2
3. % 3
4.9 4

Question Number : 49 Question Id : 39226623289 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

WO A[T°E IF)L0ool ook’
Ba ééﬁséﬁ“:ﬁ“iﬁ% R, o KBoBok.

L. Juulliuliuluuliu

2. ULUTaI iyl
3. ITUUITUIUIUIUU
4. UIUITUITUUUUIUI
Options :
1. % 1
2.2
3.% 3

4, % 4



Question Number : 50 Question Id : 39226623290 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

19588° Jew$dS “stosS Hod” DB K& Ho¥eso

1. &573553@ D F°eT°S

)

2, RN Kjd&ﬂ: RSRNLL

8 T°8) 20T 2

4, EPo¥erd ﬁnsc‘.‘i:n?.’b @)dar)

Options :
1. %1
2. % 2
3.¥3
4. % 4

Question Number : 51 Question Id : 39226623291 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

S0 DagrTroh KPHELO Kgolod.

e, SIOUTE m@ﬁea S LN NG
es, DTPDHOBE I &0 230@65
3. Docd (PE) (T8 Dveadinon
Ba S0IATEY SFes: “m55§553;5:«;5
1. e, 53, 9, 3
2 3 &, &, B3
1 3, o, 83, 3
4. e, 3, 53, @

Options :

1. %1

2. % 2

3.3

4.% 4



Question Number : 52 Question Id : 39226623292 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘A8Y’ BHorwd @go

; 3 lela
2 Nola)
3. o
4. De®)

Options :

1.¥ 1

2.% 2

3.%3

4. % 4

Question Number : 53 Question Id : 39226623293 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SRS Srodsien’ - ©H)B.

1 TR PN
o
2 D30
3 Elaly]
@
4 s
Options :
1. % 1
2.% 2
3.% 3

4.¥ 4



Question Number : 54 Question Id : 39226623294 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

RGOS, X0 PER0SED, ¥&a &2rod) orasdEo
S08D Ba o S008 0.

1. wizPe0
¥, ?asoﬁ;ﬁﬁm
3. a0, Eéq ERSE0
4. ‘éﬂ)e&ﬂ"’e‘é&ﬁiﬁ
Options :
1. % 1
2. % )
3. % 3
4.9 4

Question Number : 55 Question Id : 39226623295 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Bo 5°GS orow’ 20 D8 K809 BenHebod.
1. DT 0 BOT IFHDOEI T,

NOB(FDDZT DOBO GX)LA OGRS 00,

[ %] G

.
3. 5255067 D80 D 2 HEHY Srtsen ?a'?acjaﬁcﬁa.
4

o) &d St TR)TE.

Options :
1.¥ 1
2. %2
3.% 3
4. % 4



Question Number : 56 Question Id : 39226623296 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

T01HS° Bo|50d” FBEPHOS” &) e DK

1. e, 0¥
&

2. 59, 364

3. &9&@5, 9:5T°,

4.  HES, 20508
Options :
1. % 1
2. % 2
3. 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266855
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 39226623297 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

X3S VOBYBO, YL B0, SoSE N0

1. =
% 3
3 e
4 N

Options :

1. % 1

2.% 2

3.% 3



Question Number : 58 Question Id : 39226623298 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
BOPIETIne’ DS T BI0es (H80DTT
L. DT, Jorraedogen
2 2g00f) Téﬁ?ﬁiﬂ“ﬁtﬁsm
3. = A O ) SNERFEROTTO TA50ED
4 foteees @ﬁgm‘@
Options :
1.¥ 1
2. % 2

3.%3
4. % 4

Question Number : 59 Question Id : 39226623299 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

oKt Boaew, 'Zﬁffég FOHTew’ KJU“&E'F?‘_%&E
;.5:.«:&9.%0555063 B3 S0 208 20300079,

9 - w w P L
1. >QO a}?hﬁ}“@smgﬂ. @@QJDQM
pl Ordd e303en
3. rBEen
[ ]
4. ;’a&ﬁ&gﬁm
Options :
1. % 1
2.9¥ 2
3.% 3

4, % 4



Question Number : 60 Question Id : 39226623300 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
HodY e ISVoSE0’ esd B3 OF§03 ©0220809
RSt
1 2P0
=t
. IS INTaur L]
3. 350 a0ed
4. AL giAleSTA

Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 61 Question Id : 39226623301 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

@%ﬁ“fﬁgs ENESeTRE &8
1. ‘ﬁgwﬁg@ E}@'ﬂm
2. Peaise W(STen
3. ;5555)@@;
e}
4. 3‘-5“5 Ho¥ore ?D%E)J

Options :
1. %1
2. %2
3.% 3
4.9 4



Question Number : 62 Question Id : 39226623302 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
e [y ,’Et_ ==
,.D@"gcst'fﬁ m}g@.., u}t‘g_a__r
e, ?.ﬁﬁ)cs:sﬁﬂ @Zﬁgﬁﬁﬂl
es, S*HAFEer @2;55‘{:50

3. SR8 IRV
Ba. S‘“ﬁ;ﬁ&f"ﬁ“@ ‘a’a%’@
[ 5 e3, 3
2. e, 53
3. 3, &3
4. e3, B3
Options :
1. %1
2.2
3.%3

4, % 4



Question Number : 63 Question Id : 39226623303 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘”ﬁcgo@ﬁéﬁa WNOOR0NN % A, 28 JZONMT O
2T ;séggw.af ©X)B.

1. 558

2, Ceaow0(@a8)
3. RS

& >

LN E. wfﬁ&

Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 64 Question Id : 39226623304 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ARADY @m@gm, e0CDEIHTNS DOET R e&é}“:}g
- F_EG-J a Y W R a3 i .
DS HENS B8 mwﬂazs%“@ Do gre, (S @cﬁmﬁeﬁ;m

[DOPT 60D E‘ﬁ:ﬁj IJ°S0.
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4.  DEITedS
Options :
1. % 1
2.2
3.% 3

4, % 4



Section 5

Section Id : 392266750
Section Number : 5

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266856
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226623305 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the declarative form of “What a great performance’!
I, The performance. what a great one!

2. The performance is great.

s |

How great is the performance!

4. What a Great 1s the performance.

Options :
1. % 1
2.9 2
3.% 3
4, % 4



Question Number : 66 Question Id : 39226623306 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They play basketball every Sunday.
Choose the negative form of the sentence above.
1. They does not play basketball every Sunday.
2. They did not play basketball every Sunday.
x. They do not play basketball every Sunday.
4. They do not plays basketball every Sunday:.

Options :

1% 1

2. % 2

3.¥3

4.% 4

Question Number : 67 Question Id : 39226623307 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the adjective that can not be used in superlative
degree.

1. beautiful

i ot industrious
3. talented
4. universal
Options :
1. % 1
2. % )
3. % 3

4.9 4



Question Number : 68 Question Id : 39226623308 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Several of the girls are beautiful.
In the sentence above. ‘several’ 1s
L an adjective
2. a pronoun
3. an adverb
4, a preposition

Options :

1. %1

2.2

3. %3
4.% 4

Question Number : 69 Question Id : 39226623309 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I'm afraid I must ask you both what (do) yesterday at
10.20 pm.
Choose the option that fits the blank.
1. did vou
2. you were doing
3. were you doing
4, did not do
Options :
1%
2.¥2
3.% 3

4. % 4



Question Number : 70 Question Id : 39226623310 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The radio has been playing since 7 am. I wish someone
(furn) it off.

Choose the option that fits the blank.

1. would turn
% 4 will turn
24 furn
4. has been turning
Options :
1.1
2. % )
3. % 3
4. % 4

Question Number : 71 Question Id : 39226623311 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He dwelt effective communication media in modern
society.

Choose the preposition that fits to blank.

1. by
. on
3. 1o
4. in

Options :

1. % 1

2.9

3. % 3

4.% 4



Question Number : 72 Question Id : 39226623312 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
I congratulated the winners in the competition the
principal
1. in behalf of
2 on behalf with
3. for behalf of
4. on behalf of

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 73 Question Id : 39226623313 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the word with a silent *d’.

1. dash
2. dolphin
3. Wednesday
4. direct
Options :
1% 1
2.% 2
3.¢3

4.% 4



Question Number : 74 Question Id : 39226623314 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that comes before the word ‘month’ when
the words are arranged in alphabetical order.

I mathematics
2 mother
3. mutter
4. mould
Options :
1.¥ 1
2. % )
3% 3
4. % 4

Question Number : 75 Question Id : 39226623315 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I have little money left. let’s have dinner in

restaurant

Choose the correct set of articles that fit the respective blanks.

1. q.9
2. a. an
3. the. the
4. a1l. an
Options :
1.¢ 1
2. % 2
3. %3

4. % 4



Question Number : 76 Question Id : 39226623316 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I bought steel produced at Visaka Steel Plant.

Choose the article that fits the blank.
1. a
2. an
3. the
4. No article 1s needed
Options :
1. % 1
2. % )
3.9 3
4. % 4

Question Number : 77 Question Id : 39226623317 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘The Lost Child” is a short story by

Ruskin Bond
2. Mulk Raj Anand
3. Roald Dahl
4. Somerset Maugham
Options :
1% 1
2.2
3.%3

4, % 4



Question Number : 78 Question Id : 39226623318 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“The Selfish Giant™ by Oscar Wilde is a story that explains the
theme of
1. identity
2. Hard work
3. Jealousy
4. generosity and Kindness
Options :
1%
2.% 2

3.%3
4.9 4

Question Number : 79 Question Id : 39226623319 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In an essay, a thesis statement accomplishes the following.
E Introduce the main points of the body paragraphs

2, Provide a summary of the conclusion

Thd

Present the main argument or central idea

4. Offer suggestions for further research

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 80 Question Id : 39226623320 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the technique that is used to hint at future events or
oufcomes in a story.

1. Procrastination
2. Foreshadowing
3. Flashback
4. Red herrings
Options :
L% 1
2.2
3. % 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266857
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 39226623321 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of cognitive objectives that involves the ability to
understand the mood of the writer is:

1. knowledge
2. comprehension
3. Application
4. Evaluation
Options :
1% 1
2.¥2
3. % 3

4. % 4



Question Number : 82 Question Id : 39226623322 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Select the incorrect statement about the nature of the English
Language.
1. English is a static language and never changes
4 English 1s influenced by various languages over time.
3. English i1s a complex and evolving linguistic system.
4. English is affected by culture and social factors.
Options :
1.¥1
2. % 2

3. %3
4.% 4

Question Number : 83 Question Id : 39226623323 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Enabling the students to use appropriate technique in different
types of writing 1s an objective of teaching

1. prose
2 poetry
3. drama
4. composition
Options :
1% 1
2. % 2
3.% 3

4.¥ 4



Question Number : 84 Question Id : 39226623324 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure of a sentence 1s :
1. arrangement of syllabus
2 arrangement of alphabetical order
3. meaningful arrangement of words
+. order of adjectives

Options :

1% 1

2.% 2

3.¥3

4.% 4

Question Number : 85 Question Id : 39226623325 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The English Teacher’s Kit is useful to :

1. develop a set of easy to use material
2. score more marks in entrance examinations
R measure the mterests of students
4, organize events like annual day
Options :
1.v 1
2. % 2
3% 3

4.% 4



Question Number : 86 Question Id : 39226623326 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Curriculum is :
E. a plan that provides learning opportunities
2. a plan that shows how to teach a lesson
3. a test that aims at physical strength
4. a book that has all topics of science

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 87 Question Id : 39226623327 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oral Method of teaching was proposed by :

1. Henry Sweet
2. Edward
3. Hymes

4. Harold E Palmer

Options :
1. % 1
2. % 2
3.% 3
4.9 4



Question Number : 88 Question Id : 39226623328 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is not a psychological factor that affects
second language acquisition :

L. Ambience
2. Motivation
3. Aptitude

4, Attitude

Options :
1.9 1
2. % 2
3.% 3
4, % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 6

392266751
6

Online
Mandatory
24

24

12

0

1
392266858
Yes



Question Number : 89 Question Id : 39226623329 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Multiplicative identity for whole numbers

T TOTOL sy 9259:6‘3;5?0%’0

L. 6°— 8°

2. (2023 — 2024)**

84 5. 2
3 —ae—
7 7
-3 2
e
2 B
Options :
1. % 1
2. %2
3.3
4. % 4

Question Number : 90 Question Id : 39226623330 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The greatest 4 - digit number that is exactly divisible
by 16. 20, 24 15

16, 20, 24 o3 S’ég‘aom eTPROWG TeNR0Ze e g 0g

1. 9960
2. 9720
3 9840
4, 9920

Options :

1. % 1

2.% 2

3.¥3

4. % 4



Question Number : 91 Question Id : 39226623331 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A car takes 1 hour 40 minutes to reach the destination by
travelling at a speed of 60 kmph. If the car travels at an extra
speed of 20 kmph. number of minutes in advance will it reach
the destination

25 58 KoL 60 3.0, IK0S° (PASre3oDTY)E HSogR)
D8R3 1 Koer 40 JswTen HEIHoD. 2.8 ¥ S Kok
20 3.2, O35 SHOS® (HAFEIR, 68 3R V0T 0T
KSomgR) D08

1. 15
2. 20
3. 25
4, 30

Options :

1. %1

2. %2

3.¢¥3

4. % 4



Question Number : 92 Question Id : 39226623332 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The amount to be repaid on ¥ 12000 at 2.5% per annum
simple interest after 2 years

X 120003 0058073 2.5% FeBed $E0e0SE 2 DonoH
E@Dﬁ“@“}ﬁ R0E0
(ap] —

E: < 12600
2. < 12800
3. < 13000
4. < 13200

Options :

1.¥1

2. % 2

3.% 3

4. % 4



Question Number : 93 Question Id : 39226623333 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the quadrilaterals in which the diagonals are
perpendicular and bisect each other.

E Parallelogram and Rectangle
2, Trapezium and Rhombus

Square and Rectangle

LS

4, Rhombus and Square
Sgren HE0)E0 008 BIPOES TS SEotyErodd
Fo0 00
L O30Sy SEmo HBcin 8Y SE(po
2. FSINSTIToFA {Se‘_&.}c‘i}amc Nlelavbh! ‘ﬁé&'sﬁ@tﬁamc
3. SEdYR0 M8csn B S0
ol
4, ﬁﬁ&iﬂeﬁ}ﬁ}aﬁﬂ NulslesbLiintblefile
Options :
1. %1
2. %2
3.% 3

4.9 4



Question Number : 94 Question Id : 39226623334 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the number of faces and vertices of a polyhedron are 20. 12
respectively. then number of edges 1s

2.¥ 250509 HoEs (é‘@"'m@(g) GBo0E). J0gre ilalerth

‘%G;E}J S8R 20, 12 @00 ) @0Le ‘{ér:}a:;é

1. 32
2 30
3 22
4. 20

Options :

1. % 1

2.2

3.% 3

4, % 4



Question Number : 95 Question Id : 39226623335 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Z£P is equal to its complementary angle and Z0 is equal to its
supplementary angle then £ZP: £Z0=

ZP @558 0 Sr8sserdd 05r50 850 L0 e985050

PR DOJPEE 5Peedd D50 @0 LP: LO=

I l =3
2 1:2
3 221
4 3:1

Options :

1. % 1

2.2

3.% 3

4, % 4



Question Number : 96 Question Id : 39226623336 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

All the diagonals of a regular hexagon ABCDEF are
intersecting at ‘O’. Then £40C =

ABCDEF (550 )26’ o) sgen ‘0’ 5¢

a:o&iiﬁmémaam. sones £40C=

1. 120°
2 60°
3. 45
4. 30°

Options :

1.v1

2.% 2

3.% 3

4.% 4



Question Number : 97 Question Id : 39226623337 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 .
If x=— then the value of 2x(4x=5)+7 1s
K |
1 s 5 - »
X=— 0003 2x(4x—5)+7 D05, DEIod
2
£
9
3 oo
9
. 13
5
3
41
4. =5
9
Options :
1. %1
2. %2
3.% 3

4.9 4



Question Number : 98 Question Id : 39226623338 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

. 37 x10° x5
Value of = —
5°%X6

37 x10%x5°

Emﬁ& e

a6
1
1. —
3
2. 2
3 5
1
4. =
.q
Options :
1.¥ 1
2.% 2
3.%3

4.% 4



Question Number : 99 Question Id : 39226623339 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

| i 3
If x+—=35,then value of —— 1s
X % £
1 xt 41 )
T+ —= 509008, — D0
X X
1 23
2 27
3 25
4, 28
Options :
1.¥ 1
2.% 2
3. % 3

4. % 4



Question Number : 100 Question Id : 39226623340 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The perimeter of a rectangle 1s (4x—8) and its width is (x—35)
then length of the rectangle 1s
2.5 BYSBER0 Book), TS (4x-8) $dc0 T

Sten) (x—5) oS BYSEL(® FEJ

L. 3x—3
2 3x+5
3 3x—13
4, v+1

Options :

1. % 1

2. %2

3.% 3

4.9 4



Question Number : 101 Question Id : 39226623341 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If a dice thrown once, then the probability of getting
composite number on it 1s

Y PDED 28 0 5"{@_}@&5‘5@}&&3 TR DOding K::Dgas

;‘Eiﬁal)éafa ‘:@O&Tf’éﬁgeié

]
1 st
3
2
2 S
3
) 1
3 e
2
1
£ =
6
Options :
1.¥1
2.% 2
3.% 3

4, % 4



Question Number : 102 Question Id : 39226623342 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following DO NOT have line symmetry

208 >8&° RS Toen 89

1. X.0
2 A.B
3 E.
4, H. L

Options :

1. % 1

2. % 2

3.3

4. % 4



Question Number : 103 Question Id : 39226623343 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

4 g -
A man travelled — of his journey by a train. = by a bus and
'ql

the remaining 16 km. by an auto. The total distance he
travelled (in km)

4 4 S a 1 L 4
2.5 558 &S (Hcires0 InEoS” <% Ho Send”, 3 S0

2%0)5" DADS 16 3.2. &S ONT” (HEITEIOT . WS
(PS5E30DT I0Eo S50 (2.0, ©F°)

1. 300
2 280
3 240
4. 120

Options :

1. %1

2.9 2

3.% 3

4. % 4



Question Number : 104 Question Id : 39226623344 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The height of a cuboid whose volume is 275 cm’ and base area
is 25 cm? is (in centimetres)

P05 HBE30 275 30.00.20. 308w e JTOL0

25 $5.30.20. EOAS 8Y 050 @), I (0.2, ©F’)

1 11
2 15
3 9
4. 12
Options :
1.¥ 1
2. % 2
3.% 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266859

Question Shuffling Allowed : Yes



Question Number : 105 Question Id : 39226623345 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A hypothesized productive system i1s Mathematics™ it 1s said
by

L Bell

2. Maria Pierre

3 Lock

4, Aristotle

DOEO)E GTYEE HITR Ne3B0 0 TH)S T
1. DS

2. 208a5e Hand
3. er§

4, aar:;eag

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 106 Question Id : 39226623346 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Socio Cultural theory” was formulated by

1. Piaget
2. Skinner
3. Vygotsky

4. Adam Smith
PO %ﬂoﬂw@ oe_%mm Earofods JH

& NATE
3 ;-'1:3;;5&5
3 Eﬁ'seg?ob
4 &3&55333&5
Options :
1. % 1
2.% )
3.¢3

4, % 4



Question Number : 107 Question Id : 39226623347 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The author of the book ‘Karana Kutuhalam’

1. Bhaskaracharya - 11

2 Brahma Guptha
Aryabhatta

(8]

o

Srinivasa Ramanujan

EYe Xdirtreo’ L_HDGS Hr3oes

1 mﬁbmmtﬁg - II

2 @::p&mg
3. &355225%
4. BATD oErmD
Options :
1.v1
2. %2
3.%3

4.% 4



Question Number : 108 Question Id : 39226623348 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Play — Way method was introduced by

1. Anderson

Z. Kilpatrick

3. Frederick Froebel

4, Armstrong

EEDEB HOBCHO B &>

1. 0608

2. &>
3. EE@FBS
4 Bg&@;oﬁ
Options :
1. % 1
2.% 2
3.¥3

4, % 4



Question Number : 109 Question Id : 39226623349 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The specification ‘Selects appropriate method’ comes under
this objective

L. Skall
2, Understanding
3. Knowledge

Application

4
DEET IFBI J0TE 0L’ &3 B)ETe

&

E= @%3&3}5%} WO

) rasaa:u
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[ - a

2, [EINFARPOLAY
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27T 00 0add
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Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 110 Question Id : 39226623350 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Scientist who considered ‘appreciation’ as a mathematical
value 1s

1. Breslich

2 Young
3. Munnik
4. Schorling

‘98S5085 S el ﬁe’aeﬁaﬁ@ DS HDARI0DS (el

b=
L (B
2. aHoh
3. ;S.JJ@QE
4. %"b_aoﬁ
Ly
Options :
1.1
2. % 2
3.% 3

4. % 4



Question Number : 111 Question Id : 39226623351 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Last step in problem solving method

1. Estimate the result

4 Checking the result

T2l

Compare

4. Translating

By HEBS” DI FIrTaio
I; $9T°Q) LoBTDEEO
2. 295 BBUrEE0

3. FO)&0

4. ©IE0 BADED

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 112 Question Id : 39226623352 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Method of designing the curriculum keeping in mind the needs

and interest of the child

1. Concentric method

2. Psychological method

Spiral method

LS ]

4, Topical method

DYT VHIC D, SN NS’ DERER T (HeTVL
o =iy a3 22 2

Erof0t ATPSED

L E5S0S B3
@
2 I DPE DB
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3 D0 PO
=
4 383 HEd
ook G
Options :
1. % 1
2.9 2
3.% 3
4. % 4
Section Id :
Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 7
392266752
7
Online
Mandatory
24
24
12
0
1
392266860
Yes



Question Number : 113 Question Id : 39226623353 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The major source of Sulphur dioxide and Nitrogen dioxide are

1. Burning of tires
2. Petroleum refineries
3. Air conditioners

4. Herbicides
00)5 § &E)E $00dn JE" =S G «B)G0H B S5
(3 B 0060w
2 IRPRLLTobL-Cla) Eo"ﬂémcr“eu
o
3.  Jdownb Koéusben
4 .’be:&ﬁ“%’?m

Options :
1. %1
2.92
3.% 3
4. % 4



Question Number : 114 Question Id : 39226623354 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Salivary gland : ptyalin : : Pancreas : ?
1. Lipase, Trypsin
8 Trypsin, Sucrase

Lipase. Pepsin

(VS ]

4. Amylase, Sucrase
SION0R | ©6HOS 1 %00 1 ?
i TS, (B2

2. (@), EE

3. TS5, DR

4. P8BS, wEE

Options :
1.v 1
2.% 2
3.% 3
4. % 4



Question Number : 115 Question Id : 39226623355 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure that prevents entry of food into Larynx 1s

1. Glottis

2 Tongue
3. Epiglottis
4, Oesophagus

REDBES DS 50 (338050 Bdin Jomye0

1. e
e
2 JPens
3. éﬁ}:ﬂ:)':sﬁ
4, e TBE oK
Options :
1. %1
2. % 2
3.¥3

4. % 4



Question Number : 116 Question Id : 39226623356 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A.  Stomata L. Absorption of water
B. Xylem I1. Transport of food
B4 Root hairs [II.  Transpiration

D.  Phloem IV.  Transport of water

E08 T°8J nERTS0E

A 3B8Bo|Eo I 8 e
B. [olobIn) 1L es38s Varese
C. Soreosyo I11. aﬁ&*ﬁojﬁnjﬁo
D. FASSoEre0 IV. 8 Saver

1. A1 B-II, C-II, D-1V
A-III, B-IV, C-1I, D-1II
3. A-1 B0, €-1I, D-IV
4. A-1 B-IL C-1 D-W

-2

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 117 Question Id : 39226623357 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The part of the brain that controls posture and equilibrium of
body

1. Diencephalon
2 Cerebrum
3. Cerebellum

4, Medulla Oblongata
30 FoAmD (SoETONS 1), W08 S PB Jco@oD
&S arKo

i SAtS0
DS
2 SOV
3.  ©imHNH0
4 ﬁaﬁ;&b&azo
Options :
1. % 1
2. % )
3.¥3

4. % 4



Question Number : 118 Question Id : 39226623358 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The element in water that controls the metamorphosis of
Tadpole into adult Frog is

1. [ron

2 Calcium
3. Cadmium
4, Iodine

wgﬁﬁgwcis e L9y STEE)) NS0\ B0
HBIS®Y sareko

0 258

2. el levble)
ook

3 oG é::fi:}o

4. ODBrES

Options :
1. % 1
2.% 2
3.% 3
4. 4



Question Number : 119 Question Id : 39226623359 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Correct inference when an animal cell 1s kept in a salt solution.

1. In 1sotonic solution the cell will shrink.

2. In hypertonic solution the cell will stay in the same size

LS ]

In hypotonic solution the cell swell and rupture
4. The cell dissolves

ZOEHKETY) EDP (58308" SODTIPE> SALRIR HOFOS

Blejletar]
=
1. OSmES Ko |°5e08° Km0 $000:505Peod.
2. oY mES No (T¥n0s” K00 o8 Hdire0d’
&08008

3. EE:CJET“C;.’@ ne @;553065 ¥e0 éi)aj 5@3@506,
HAOIFe08.

4. ¥ea20 E0APH00

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 120 Question Id : 39226623360 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The character helpful to identify bad quality seed

1. Sinks in water

2. Having round shape

Contain dark colour and texture

LS ]

4. Floats on water

TREE0 IFTR) HBOHLE SEIBFRDE ©EF0
1. JBS® 50500

& hhSlel [ty ﬁlmémo ¥R s0dod

3 ERS Borb $oddin esE)B o

4. AP BOETEE

Options :
1. %1
2. %2
3.% 3
4.9 4



Question Number : 121 Question Id : 39226623361 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The food 1tems that contain Vitamin C
L. Liver

I1. Mirchi

[II. Banana

IV. Tomato

WS C %O soa S0

I. STSA00
II. 3363
. et
V. &5
i. I III
2. I IV
3. .1V
4, II. III
Options :
1. % 1
2.9 2
3.% 3

4. % 4



Question Number : 122 Question Id : 39226623362 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The speedo meter in vehicles record the speed in

1. cly's
2. nvs

3. m/min
4, km/h

TEToS V)G s TEssEd SIS wrbhigod

i B ot O 0

2. s 9
3. Do/ du
4. 3../Ko
Options :
1. % 1
2.% 2
3.% 3

4.9 4



Question Number : 123 Question Id : 39226623363 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Combination of the two or more electrical cells 1s called

¥ MCB

2 Fuse
3. Circuit
4. Battery
B0 BO° ©OSEOE K S ﬁﬂﬁageg 0870 93500550
[ 90LPLD.
: MCB
2. @ugg
3. —edi0
4. e

Options :

1. % ]

2. % 2

3% 3

4.9 4



Question Number : 124 Question Id : 39226623364 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Naphthalene balls that are used to repel moths are obtained
from

1. Coke
2. Coal
3. Coal tar
4. Coal gas

IS SOWICNENE EHBrA0D TROS sosesn 8 $od
ST DAL,

1. g°§
2. ?3&323"?%
3. S
4. 56 3o
Options :
1. % 1
2.% 2
3.3

4.% 4



Question Number : 125 Question Id : 39226623365 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Correct order of frictions.
X.  Sliding friction

Y.  Rolling friction

£ Static friction
HodEae BB (Ebo

X 28085 ?;:agsa

it 5"@__@ Eﬁagm

7. 08y ‘ﬁ.{ngﬁ

- =3
1. X<Y<Z
9., Y=Z<X
3§, ¥<X<Z

4, X<Z<Y

Options :
1. %1
2. % 2
3.¥3
4. % 4



Question Number : 126 Question Id : 39226623366 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
Strongest Fibre among the given fibres
1. Wool
2. Polyster
Silk
4. Nylon

208 orores® peHS T80

L |

1. E=3E0
2 06
=5
3 e
g3
4. o
Options :
1. % 1
2. %)
3.% 3

4.9 4



Question Number : 127 Question Id : 39226623367 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the fruit that 1s not exported by us from the following.

1. Mango

2. Pomegranate

LS ]

Dragon fruit

4, Banana

308 IS 050 A BAH PO Koos.
1. L i s

2. TPdadd 2 Do&

3. AR H0&

4. @5Ed Do

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 128 Question Id : 39226623368 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Device used to protect buildings from the effect of lightning

L. Seismograph
2, Electroscope
3. Tester
4. Lightming Conductor
DIV 20 D0& FIT o SF0UEAS &HBrAon HOKLo
1. Zr¥od SP
2. i}u.;;g&g&
3. &85
g2
4. e:é'é;’:csst.’ﬁﬁo
Options :
1. %1
2. %2
3.% 3
4.4 4
Sub-Section Number : 2
Sub-Section Id : 392266861

Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226623369 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This is not a component of substantive structure of science
structure

1. Concepts
z Theories

3. Methods

4, Laws

2 SJT&E‘E;&M 5035&_ @'J“ée‘:ééﬁ E'Jc:‘&ta;imessﬁ) 900 SP8

1. TP 00 1)
2. DTOTL)
o
3 B dnen
o
4, o G0 s3TPe
Options :
1. % 1
2.% 2
3.3

4, % 4



Question Number : 130 Question Id : 39226623370 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sharing of learners opinions based on key words will be done
in this stage

1. Conceptual understanding
2 Conduct activities

Demonstration - discussion

L

e

Mind mapping
do¥ vore sgrom &92,1"’5““353@ | dires Eﬁa;]ofic‘io
B S¥S° 2sthHroeood.
1 FALIINTI I EINTawr iy
2. 539315'&: 355?.’.'3“53
3 @dc‘g’;ﬁ - aicﬁlj
4.  o& srghoRl
Options :
1. % 1
2. %2

3. %3
4.9 4



Question Number : 131 Question Id : 39226623371 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Unit is an elaborative concept which 1s inter related in nature™
is defined by

1. Preston
2. Willbert
3. Bosing

4. Card well
“DER)E H00L0 EOAS "’“3*-“55;"; DRGSR G50 @0t
& AKDODSH

i @fjﬂS
Z ASE
[ ]
3. S°H0R
4. 8IS
Co

Options :

1.v1

2.% )

3.% 3

4, % 4



Question Number : 132 Question Id : 39226623372 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student explained the relation between beak shape and food
habits of birds. The objective achieved by this 1s

L Knowledge

2, Skall

3. Application

4. Understanding

iﬁaﬁgg o é.S.x:?—iab_ eSS oS, ety &ae.;a“%aﬁﬁ: ;5.::55 ne
2oROTTR) B, 8 GO FROBWES ©Fg0

L 200
=
5.8 Eﬁ.’é}ﬁgo
3: DIGBIRO
4. (ST LN
Options :
1. %1
2.% 2
3.¥3

4, % 4



Question Number : 133 Question Id : 39226623373 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

First step in 5 - E model of learning

L Evaluate
2. Engage
2. Explore
4, Explain

5 - E 925508 SadoorarS® &°0 e90%a50

1. ;:J.me:béoﬁs‘jo
2. 53@5065 RES (Bt
3. &95533.05::‘50
4. D¥BXBoSED
Options :
1. % 1
2.2
3% 3

4. % 4



Question Number : 134 Question Id : 39226623374 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s used to evaluate science textbooks keenly
L Vogel evaluation tool
2 Thurston evaluation tool

Termon evaluation tool

[N ]

4. Long field evaluation tool

EITE ir'éﬁ’g Wogres Jd3sonm SO ESENT DAt
I &9STrAT .

1. 3RS NSNS 55099

2 55{35 SoTEPROKT S
3. aeﬁéS SrergOsS D
4. o0k ?,:eg SO 75
Options :
1.9 1
2. % 2
3.% 3

4. % 4



Question Number : 135 Question Id : 39226623375 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This 1s not a character of Analytic Rubrics used in evaluation

1. contains CONCepPts 10 eXpress clear IESPONSEs

2. useful for making student profile

LS ]

less priority for creativity
4, easy for teacher
Srergos0S” EDEFACT IFNeTE) 8 ErDE) oFro S8

L pD)BEI Y0850 BT aPSIL00ET0w.

2. oo (PP S50 SRSrnRHEE0d
i Rl oo
3. ﬁgamﬁ&ﬁﬁﬁ: SO @“Cﬁ“ﬁﬁéé
4. éiﬂ@éﬁwﬁi BOET™ Sotnod
Options :
1. % 1
2. %2
3.% 3

4.¥ 4



Question Number : 136 Question Id : 39226623376 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

After reading APJ. Kalam’s biography. he too decided to work
with dedication. The scientific value obtained by him is

1. utilitarian value
2 moral value

scientific attitude value

Thd

4. intellectual value
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Question Number : 137 Question Id : 39226623377 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The 1sland of ‘Diu’ 1s relatively near to this state

i Kamataka

2. Goa
3. Gujarat
4. Kerala
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Question Number : 138 Question Id : 39226623378 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

These forests are the habitats for Lion — tailed Macaque

L. Dry deciduous forests

2. Evergreen forests

Mountain forests

T4l

s

Mangrove forests
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Question Number : 139 Question Id : 39226623379 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The state that shares its land frontiers with Myanmar and
Bangladesh 1s

1. Tripura

2 Mizoram

3 West Bengal

4, Assam
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The famous book ‘Madhuravijayam” was written by
L Tallapaka Timmakka
2 Atukuri Molla
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Gangadevi
4. Nagalamba
(BG odS WoGHT Descio’ &S (oG BDODS T8

1. 93“0.‘{)21‘5 e‘.’%;ﬁaéﬁb

2. e3¢y XD 313@.;1
3. Koo
4. aeheToe)
Options :
1. % 1
2. % 2
3.3

4. % 4



Question Number : 141 Question Id : 39226623381 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He was the Governor General of India when the Permanent
Settlement was introduced

1. Warren Hastings
2. Cormwallis

3. William Bentinck
4. Dalhousie
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Question Number : 142 Question Id : 39226623382 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to Wood’s Dispatch. the British government
established universities in these cities

1. Bombay, Madras, Calcutta
2. Hyderabad. Delhi, Kanpur

(ad

Banaras. Srirangapatnam
4. Bombay. Calcutta. Delhi
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Question Number : 143 Question Id : 39226623383 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ashoka’s inscriptions on Kalinga war were found on the rock
edict no:
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Question Number : 144 Question Id : 39226623384 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statements related to E. V. Ramaswamy
Naicker from the following

A.  He is well-known as Periyar
B. He came from upper class family
C. He studied Sanskrit scriptures carefully in his early life.

D.  He supported Hindu Scriptures
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Question Number : 145 Question Id : 39226623385 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Fundamental Duties were added to the Constitution of
India in this year by the 42™® Constitutional Amendment
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S TegoRos” Bom)Kd
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2. 1978
3. 1982
4, 1984
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Question Number : 146 Question Id : 39226623386 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
The Muhammadan Anglo Oriental College was founded by
1. Mohammad Al Jinnah
2. Sayyid Ahmed Khan
Khijir Khan
4, Fazl Ali Khan
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

He was the only President to be re-elected for the second term

1. Dr. Sarvepalli Radha Krishnan

2 Dr. APJ Abdul Kalam

(b

K.R. Narayanan

4. Dr. Babu Rajendra Prasad
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oceania covers
1. Australia, Indonesia, Philippines

2. Indonesia. Vietnam. Pacific Islands

b

Australia, New Zealand. Philippines

4, Australia. New Zealand. Pacific Islands
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Question Number : 149 Question Id : 39226623389 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
It 1s not used by the tailor
1. Bobbins
2. Measuring tape

Machine oil

4. Plum bob
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Question Number : 150 Question Id : 39226623390 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The crop that requires two hundred and ten frost - free days 1s

Wheat

2 Maize
3 Coffee
4. Cotton
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Vivekachudamani, Soundaryalahari. Sivananda lahari,
Atmabodha etc... were writings of

1. Ramanujacharya
2. Adi Shankaracharya
Madhvacharya
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This 1s not a part of the *Ashrama System’

1. Grihastha

2. Gnanaprastha
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Question Number : 153 Question Id : 39226623393 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Marks allotted to an essay question in Summative Assessment for
class VI
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Question Number : 154 Question Id : 39226623394 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The author of “The Prince’ 1s
I, John Locke

2 Rousseau
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Montesquieu

4. Machiavelli
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Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This method 1s based on the principle of “Not learning to live
but Learning through living”

1. Lecture method

2 Project method

(s

Problem Solving method

4. Activity Based method
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Education 1s a key tool to effectively face challenges and
build a powerful society™ — stated by

L. Jawaharlal Nehru
2. Kautilya

M. Visweswaraiah

T4l

4. Amartya Sen
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Question Number : 157 Question Id : 39226623397 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They help to develop teaching and learning skills

A. Seminar
B. Simulation technique
. Panel Discussion

D.  Work shop
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Kondaveedu Fort’ is a

i, Natural source, written source
2. Historical source. primary source
3. Written source. secondary source

ot

Primary Source. natural source
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are used to find out the relationship between Price and
Demand

1. Bar graphs

2 Pie graphs

3. Line graphs

4. Venn graphs
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Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The process of knowing how far the educational objectives
have been achieved is Assessment™ said by

1. Benjamin S. Bloom
2. Ralph Tyler
3 NCERT

4. Vidya Vijnan Sarvaswam (1960)
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